

Lecture 7 Horizontal Sight Distance


For a curve to be safe it is necessary to be able to see around the curve for a distance at least equal to the stopping sight distance. This value is calculate using the following



[image: image1.wmf]
 

A Calculator for determining horizontal sight distances is available at the link Calculator for Horizontal Sight Distance
In order to precede it is necessary to determine the stopping distance. This is calculated in the following manner

Summing forces parallel to the plane of the vehicle
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f in the equation above is = 3.4/9.81=.35.  The English value is different 
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S in the equations above is the stopping distance and V is the speed in km/hr or mph for level roads. If there is a grade to consider use the equation with the grade the term G or the Calculator for stopping sight distance is available at Calculator for Stopping Sight Distance
The following Table gives the stopping distance for level wet pavements.
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20

30 200

40 305

45 360

50 425

55 495

60 570

65 645

70 730


Occasionally it is necessary to determine the passing sight distance associated with a road section.  A Calculator for determining passing sight distance

is available at the link Calculator for Passing Sight Distance
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		Speed (mph)		Stop Sight Dist

		20

		30		200

		40		305

		45		360

		50		425

		55		495

		60		570

		65		645

		70		730

		75		820
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